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14/10/15: Round Trip by Craig Kasper
Theme: Getting Even
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Draw a single loop in the grid which may cross itself orthogonally, but otherwise does 
not touch or retrace itself. The clue numbers to the left/right of the rows indicate the 
number of squares visited by the nearest section of the loop that travels horizontally 
in the rows. The clue numbers to the top/bottom of the columns indicate the number of 
squares visited by the nearest section of the loop that travels vertically in the columns.
Answer Entry: Enter the number of empty squares for each row from top to bottom,
followed by a comma, and then the number of turns for each row from top to bottom. 
This example has the key “100000,422224”.


